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B.P.Ed. 3rd Semester Examination

Computer Applications in Physical Education
and Sports Science

PAPER — CC-302
Full Marks : 70
Time : 3 hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers
in their own words as far as practicable.

Tllustrate the answers wherever necessary.

Answer from all the Parts as directed.

PART—A

following :
15x4=60
\)/{Vhat is computer? Write down the input and
output computer systems. What are the
differences between primary storage unit and
gecondary storage unit? 2+8+5=15

Answer any four questions from the
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(2)
(OR)

What is ICT? Discuss the need and imp
of ICT. Write down the importance o
computer software in the field of rese
physical education and sports. 31

2. at is MS Word? Write down the s
drawing table, prepare graph, page num
and header and footer in a MS Word

Write down the importance of MS Word
field of physical education. 34

(OR)

What is hyperlink? Write down the steps \. |
a document. Discuss about the steps and
of mail merge. Write down the steps of spelling’
and grammar check in a word document ol

3+3+3+6=! *lt

3. What is MS Excel? How can you sum up the
numbers quickly in the MS Excel Sheet? Write
down the importance of MS Excel in the field uf »
physical education. 3+4+8-15

(OR)

What is meant by Excel Spreadsheet? Write
down the procedure to create a spreadsheet in
MS Excel, Discuss the application of MS Excel
in physical education and sports.  4+5+6=15
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| (3)

* T is PowerPoint? Discuss the use of
PowerPoint presentation in modern teaching and

rch method. Mention the steps to insert
Braphics in PowerPoint slides. 3+8+4=15

(OR)

:‘ will you create and save a PowerPomt
- Presentation file? Write down the need and uses

S PowerPoint in teaching and presentation.
6+9=15

PART—B

wer any ten questions from the following :
1x10=10

How many function keys are there on
keyboard?

i) 6 -

W) 8 ‘ § el 7>
- (i) 10

iy 12

Which among the followmgs is secondary
storage device? 4

ﬁeﬁard Disk
(i)~ RAM
(iii) Diode
fiv) ROM
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(4)
(c) 1 megabyte is equal to

il 1024 byte
(i), 1024 kilobyte

(i) 1024 gigabyte

Mone of the above

(d) Another name for a computer chip
(i) execute
Wmicrochip
@/ microprocessor

(iv) None of the above

(e) ‘CD’ computer abbreviation usuall* 1
(i) Cominand Description
(i) Change Data

(i) Copy Density

Mompact Disk




(5)
- () In computer language, RAM refers to

(i) Read Only Memory

ﬁi}/Random Access Memory

(i) Random Accent Memory

(iv) Read Access Memory

(g) The speed of your net access is defined in
terms of

(i) RAM

(i) MHz

Computers calculate numbers in what
mode?

~ (i) Decimal

(ii) Octal

(}uj/ Binary

(iv)] None of the above
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| (6) 4
(i) In what term is computer mcm&y
measured?
(i) Units
(ii) Bits

(i) Cells
Bytes
() To apply center alignment to a parj;
we can press

(i) Ctrl+S

i) Ctrl+C
(i) Ctrl+C+A

W/CtrHE

(i) Word Colour
(i) Word Font
(;'t'ﬂ/Word Art

(iv) Word Fill

document?
M ooter
(i) Foot Note
(iii) End Note
(iv) Header



(7)

REGBRIN

e A1Eg Actefer s o |
0rd TP e O $ed el e |
T 2SSz T 4 |
ITE a1 el (A0F Ted (TeH! AT |

et—s
e Gl ol o e e 2 S x8=0

SRerSTi §7 @l TATHITER T @ TG
SoAmea @4 | AT CHIEE 2oR0 «R G
OIS BEf5-4 T A4 @ | H+E=5¢

(Teat)

ZICT §17 ICT-99 Awie-Rel 8 g%y WDl 39 |
MR il @ C4FTIEETY SIARAIR CRFE P 1TDIA 75 A
YA GFg @4 o+b-+8=5¢

@SS A7 G e WS MG GRA A
47, rfod-«q 2Bfs, P T (e, @3k M @
gl (rear 4l @ | o+b+8=3¢
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(8)

(@)
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ofy fFeita 90 PowerPoint CHTHRCH Fi2e e
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¢. @RI o AR BEE e :  sxdo=do
[(F) FcE b wiew F wg?

W)
(i) v
(iii) So
fiv) R

(2) 3 @l creeRl ohiws foeiz?

(i) 26Tz

(i) RAM

(iii) IS

(i) ROM
7

-;-T-(ft)/s @MRMRD FTes W
(i) So383IR5
(i) So3s FERMEG

i (i) Soxs BRES
fiy)” TR @ADL 7
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) Read Only Me

(i) Random Accent
(iy/Read Access Men

r‘v.‘
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(11)
(®) 0 SICICR oifS @ =0 wewmifie a1 27

i) RAM
}U/MHZ
(iii) Kbps

(iv) TG

(& ) S51TBI (I IS R St A2
(i) ™I
(i) SETE
(iii) QMBI
@aj/ TR (2

(J) B @I ARSI 9@ w9 $12
(i) oG
(i) TG
i) 2
iv) AZD
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(12)
@8) gD S (FUEA elifeeae ot
1 viot e #Aifa?

(i) Ctrl+S
i) Ctrl+C
(iii) Ctrl+C+A
(iv) Ctrl+E

(B) MS Word-9 (B35-"5{3e ?rcvr

.

(i) <G |
(i) SAE FH i
(i) <E =i
fiv) ST femn

5) o SN b A e gt 1
) IOR i
(i) FH b
(i) 9% b
iv) (2CH

* k k
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